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For Today

e Method
e Results for 2.2 GeV, 2.5T



Acceptance Cuts

Y Cut: L.irtg_y Theta Cut: L.gold.th
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run 3871, p0=1.041 GeV/c



Gas Cherenkov Cut

PID Cuts
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Pion Rejectors Cut

— Event type: T1(T3) for RHRS (LHRS)

— Single track events

— Single cluster in VDC

run 3871, p0=1.041 GeV/c




Method

e Events are sorted into 50 MeV bins inv

(v = E-E’)
Still need to normalize
* Asymmetry is calculated for each bin: to charge/livetime!
Nt — N~ 1
Araw — 5A7°aw ~
N+ + N- VNt 4+ N-

* Runs are summed together using a weighted
average:
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2.2 GeV, 2.5T, Transverse

Raw Asymmetries
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For Next Time

* Include charge/livetime information
 Complete analysis for all energy settings
* Physics asymmetries



